COLOR:
CRASH RAIL: TOTAL END
COLOR TO BE SELECTED FROM ONE OF C/S STANDARD COLORS. L/F REQ' D CAPS

0.S.C.
REQD

ACROVYN 4000 COVER 1 1
(24U007xxx) 13/8" 1 1
ACROVYN CHAMELEON = [33.9mm] | :‘
(24U676xxx) 1 1
é 1 1 #10 X 2" PH PAN HEAD SMS
13/8" W/ FLAT WASHER SAE
[34.9mm] 1 1 AF-6 PLASTIC ANCHOR
16" [406.4mm] O.C. MAX.
2 3/4" K&
[69.7mm] <[ IR=4

188
L1

ALUMINUM RETAINER 1 1
(24A130000) 1

MOUNTING CUSHION
ai067108) || | STEEL STUD (BY OTHERS)

NG
G.W.B. (BY OTHERS)

BG-30N
ACROVYN 4000

DRILL DIAMETERS CIS PART
WALL CONDITION SPECIFIED FASTENER WALL RETAINER NUMBER
#10 X 2" PHILLIPS PAN HEAD SMS 90H191002
CONCRETE/CONCRETE BLOCK 1/4" FLAT WASHER SAE 1/4" 9/32" 90H007003
AF-6 PLASTIC ANCHOR 90H039004
#10 X 2" PHILLIPS PAN HEAD SMS 90H191002
STEEL STUD/GYPSUM WALL 1/4" FLAT WASHER SAE 1/4" 9/32" 90H007003
AF-6 PLASTIC ANCHOR 90H039004
#9 X 2 1/4" WAFER HD PH DRYWALL SCREW 90H421002
WOOD STUD/GYPSUM WALL 1/4" FLAT WASHER SAE N/A N/A 90H007003
PROJECT: REVISION:
JOB NO.: F&F:
Construction Specialties™
P CUSTOMER:
6696 Route 405 Highway, Muncy PA 17756
800) 233-8493 - Fax (570) 546-4692 = www.c-sgroup.com
#00 0 o REP: DATE:
DRAWN BY: SHEET NO:

DOCH#: TS-930-296N ISSUE DATE: 08/17/10 REV DATE: 09/25/12




	Text1: 
	Text2: 
	0: 
	1: 
	2: 

	Text3: 
	0: 
	1: 
	2: 

	Text4: 
	0: 
	1: 
	2: 

	Text5: 
	Text6: 
	Text7: 
	Text8: 
	Text9: 
	Text10: 
	Text11: 
	Text12: 
	Text13: 


